b) Use Mohr’s circle to dctcrmme lhc principal stresses acting on this element and show them on a
properly oriented element.

¢) Use Mohr’s circle to determine the state of stress on an element oriented 30° counterclockwise
from the position shown and show them on a properly oriented element.
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a) DEICHIIINE UIC oAl and shedr Stresses acing on tn€ Inclined plane AB
shown in the figure. Show the results on a properly oriented element,
indicating orientation and all stresses.

b) Using the original element (i.e. ignoring AB), determine the angle at which
the shear stresses on the element will be equal to Zero. Show the results on
a properly oriented element, indicating orientation and all stresses.
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